



姓名: _____

日期: _____ 分數: _____

$$(5 - \frac{1}{2})^2 - \frac{1}{2} + \frac{2}{5} - 4^2 =$$

$$(\frac{3}{5} - \frac{3}{2})^2 - \frac{1}{2}(\frac{2}{5} - \frac{2}{3}) =$$

$$((\frac{1}{5})^2 - \frac{1}{3}) \times \frac{1}{2} - (\frac{1}{2} + \frac{1}{2})^2 =$$

$$(5 - \frac{1}{6})^2 - \frac{1}{4} \times 2^2 + \frac{3}{4} =$$

$$(3 - \frac{3}{5})^2 - \frac{2}{5} \times 4^2 + \frac{1}{3} =$$

$$(5 + \frac{1}{5})^2 + \frac{1}{3} + 2^2 \times \frac{2}{3} =$$

$$(\frac{3}{2} - \frac{1}{2})^2 - \frac{1}{2}(\frac{1}{2} - (\frac{3}{5})^2) =$$

$$(4 + \frac{3}{4})^2 - \frac{1}{2} + 2^2 \times \frac{1}{2} =$$

$$(\frac{1}{6} + (\frac{2}{3})^2) \times \frac{1}{3} - (\frac{1}{3} - \frac{1}{3})^2 =$$

$$(\frac{1}{3} + \frac{3}{4})^2 + \frac{1}{4}(\frac{1}{2} - \frac{1}{3}) =$$



姓名: _____

日期: _____ 分數: _____

$$(5 - \frac{1}{2})^2 - \frac{1}{2} + \frac{2}{5} - 4^2 = \frac{83}{20} = 4\frac{3}{20}$$

$$(\frac{3}{5} - \frac{3}{2})^2 - \frac{1}{2}(\frac{2}{5} - \frac{2}{3}) = \frac{283}{300}$$

$$((\frac{1}{5})^2 - \frac{1}{3}) \times \frac{1}{2} - (\frac{1}{2} + \frac{1}{2})^2 = (-\frac{86}{75}) = (-1\frac{11}{75})$$

$$(5 - \frac{1}{6})^2 - \frac{1}{4} \times 2^2 + \frac{3}{4} = \frac{208}{9} = 23\frac{1}{9}$$

$$(3 - \frac{3}{5})^2 - \frac{2}{5} \times 4^2 + \frac{1}{3} = (-\frac{23}{75})$$

$$(5 + \frac{1}{5})^2 + \frac{1}{3} + 2^2 \times \frac{2}{3} = \frac{751}{25} = 30\frac{1}{25}$$

$$(\frac{3}{2} - \frac{1}{2})^2 - \frac{1}{2}(\frac{1}{2} - (\frac{3}{5})^2) = \frac{93}{100}$$

$$(4 + \frac{3}{4})^2 - \frac{1}{2} + 2^2 \times \frac{1}{2} = \frac{385}{16} = 24\frac{1}{16}$$

$$(\frac{1}{6} + (\frac{2}{3})^2) \times \frac{1}{3} - (\frac{1}{3} - \frac{1}{3})^2 = \frac{11}{54}$$

$$(\frac{1}{3} + \frac{3}{4})^2 + \frac{1}{4}(\frac{1}{2} - \frac{1}{3}) = \frac{175}{144} = 1\frac{31}{144}$$